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EXERCISE 1

Consider the amplifier in the figure below, whose paprameters are (@ T =
2oL
Vce = VEg=30V, Rg=500kQ2, Rp=15kQ, Rg=5kQ, R| =7.5kQ

MOSFET: VT =8V, Ipss = VT2kW/L = 8 mA, rg = . T, = T, ( _ VL)
BJT: Vgg = 0.7V, Bg = 150, pg = 200, rg = w. Ur

Determine:

1)IcqQ IpQ and Rg so that Vo= 0 V.

2) Voltage gain at low frequency, A,1=Vvo/Vg considering Cg open.

3) Voltage gain (mid frequency) A,,2=V,/Vvg considerando Cg shorted.
4) Low frequency cut-off f_ due to Cg=100uF.

5) Draw the Bode asymptotic diagram of Ay(f).
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EXERCISE 2

Consider the amplifier in the figure, whose parameters @ T= 25°C are the
following:

Vcee=36V; R5=10ki

Q1l: pF1=100 ;pp1=200, Ic1=-0.4mA; Vcg1=-16V, VBg=-0.7V (rg=x)
Q2: pF2=100 ;p02=200, Ic2=2mA; Vcg2=18V, VBg=0.7V (rg=x)

Determine:

1) Resistances R1, R2, R3, Rg.

2) Ay= vgp/vs (considering C1 e Cy shorted and Cy open).
3) Resistance Rj, indicated in the figure (as per point 2).

4) Resistenza Ryt indicated in the figure (as per point 2).
5) High frequency cut-off fy considering only Cy (Cyx=20pF).
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